Extrusion

fet— 103.00 ———

[4.055]
12.50 —m=y f—
[.492] 229
6.00 — i |wm— [.090]
[.236] v 25.45
[1.002]
L&
200 |8 %
48.44 [079]
[1.907]
1 5
‘ 3345
la—— 73.00 — | [1.317]
[2.874]
fet—— 90.29 — =
[3.555]
ft—— 98.00 ——— |
[3.858]
End Plate
fe—— 95.02 — g
[3.741]
45.00 53.00
1.772] [2.087]
o S
103.00
[4.055]

10.40
[.409]

{~a—— 160.00
[6.299]

B e —

1.50
[.059]

53.01
[2.087]

45.00
[1.772]

Open Bezel

fea—— 9502 — gt
[3.741]

C —--—

6.00
[.236]

D

50.13
[1.974]

C-—

|l 100.13
[3.942]

le— 10613 — gl

[4.178]

9.00
[.354]

56.13
[2.210]

53.13
[2.092]

Z

OPTIONAL FLANGE END PANELS
1455NF

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Solid models of this enclosure available in STEP or IGES.
Contact Factory mjm@hammondmfg.com®

NOTE
Purchased assembly includes extrusion, plastic bezels, end
panels, #6 Taptight screws and self adhesive rubber feet.
Box made from Extruded Aluminum 6063.
Bezels made from polycarbonate.

1455NC1601

PART NUMBERS

Clear Anodized 1455NC1601

ACCESSORIES

T Bolt (M8 x 20) 1455TBOLT
T Nut (M8) 1455TNUT
T Spring Nut (M8) 1455TSNUT

MANUFACTURING n,

1455NC1601

wywwi_hammiondmiig.oom




